REAR MOUNT

MODEL ET1547L SERIES

= 1.00

460
439
380 SEE DETAIL C
370
130 —= ] 4Y 133 DETAIL
SCALE
5 ° '
- AY 403
0 (o]
305 *
o (ACTIVE AREA) =
Eob 1
150 70 d
229
296 o (ACTIVE AREA) o ! s

328

313

POWER SWITCH
REMOTE OSD
CONNECTOR

POWER
" CoNNECToR CONNECTOR
TOUCH INTERFACE
USB & SERTAL

DIMENS TONS ARE IN MILLIMETERS

C
2.000

363

215

SHEET 1 OF 6
SCALE 12

PART NUMBER PART DESCRIPTION “A” “B”
006986-000 ET 154 7L-0ONWC - | o/l.3 o
C32978-000 ET IS4 7L-7CWC- | o/.3 o
016426-000 ET IS4 7L-8CWC- | o/.3 o
A6o5349-000 ETIS47L-0CWC - | 10.3 60
381338-000 ET 154 7L-9SWC - | 10,95 ol .9
F10657-000 ET IS4 7L-9UWC- | 10,95 ol .9
Co9911-000 ETIS4 7L -3CWC- | o/1.3 o/

TOUCHSYSTEMS

MS500235

DATE: 1123.05

REV: J




REAR MOUNT
PLATE CUT OUT

NOTES:
MATERTAL:

HORIZONTAL INSTALLATION

| WOOD: @4.5 HOLES THRU FOR M4 SCREWS W/NUTS,
OR, NO THRU HOLES, SCREWS FOR WOOD @ 4mm),

2. .SHEET METAL:

DIMENS TONS ARE IN MILLIMETERS

R

e --d/;;,////’_""-———-..___,————’“\\--~\\\\“\L-

VERTICAL INSTALLATION

CONCEALED HEAD THREADED STUDS M4 W/NUTS.

~— 378

NO BRACKET INSTALLATION

NOTE:

3D FILES AVAILABLE.

SHEET 2 OF 6

TOUCHSYSTEMS

MS500235

DATE: 1123.05

REV: J




460

439

400

FRONT MOUNT

MODEL ET1567L SERIES

FRONT PANEL
"SEE TABLE”®

!

= 309 =
(ACTIVE AREA) T |10
316
* 7'0 J 247
229
(ACTIVE AREA)
-4 4.3
38— - = 4X 3.3
CABLE
SWTCHW\ //TCONNECTOR
[ecees ._p'#??ﬁfiF§=¥’=iF3?¥FfﬂfffT:]ﬂ
> (U 4:3°Ej1 'u.‘a E
REMOTE TOUCHJ
0SD INTERFACE POWER
CONNECTOR USB & SERTAL CONNECTOR
PART NUMBER |PART DESCRIPTION- “A” “B”
351660-000 ETI56/7L-0ONWC- | 6/, 3 57
4325714-000 ETIS56/L-7TCWC-| of.3 5
2o72302-000 FETI567L-8CWC- | of1.3 51
07/3496-000 FETI567L-6CWC- | 0.3 60

¥1567L SERIES MONITTOR COMES WITH FRONT
MOUNT BEZEL C72404-000 PRE-ASSEMBLED

DIMENS TONS ARE IN MILLIMETERS

215

T
15
)
ﬁ

296

71
380
FRONT PANEL
PIP NUMBER PIP DESCRIPTION MATERIAL COUNTRY
3mom THICK NORTH
CT2404-000 FLO-PLATE- | 5MODULAR ALUM I NUM AMER | C A
BLACK ANOD|ZED ONL Y
>mm THICK
A82804-000 |FcQiBELEL-ToMOD STAINLESS STEEL FURO ONLY
BLACK POWDERCOAT
2mm THICK
D82339-000 |59 BEAEL-TOMOD STAINLESS STEEL CURO ONLY
BRUSHED FINISH
USE WITH ELO MONITORS
PART NUMBER PART DESCRIPTION “A” “B”
050986-000 ETI547L-0NWC- | o/ .3 57
C32978-000 ET 15470 -7TCWC- | o/ .3 57
576426-000 ET 1547 -8CWC - | o/ .3 57
A65349-000 ETI547L-6CWC- | 10,3 o0
3I871888-000 ETI547L-9SWC - | 10 .5 ol . b ggiEE fZOFG
F10657-000 ET 1547 -9UWC - | 10.5 ol . 5 '
C59911-000 ETI1547L-3CWC- | o/ .3 57
' I
TOUCHSYSTEMS
MS500235
DATE: 1.23.05
REV: J




FRONT MOUNT
PLATE CUT OUT

0
| |
HORIZONTAL INSTALLATION VERTICAL INSTALLATION
0 0
A
h ' —
UJ.o. U o

0 0

NOTES

MATER I AL :

SHEET 4 OF 6
| WOOD: @4 5 HOLES THRU FOR M4 SCREWS W/NUTS,

OR, NO THRU HOLES, SCREWS FOR WOOD @ 4mm),

2. OHEET METAL: CONCEALED HEAD THREADED STUDS M4 W/NUTS.

NOTE : ! l

3D FILES AVAILABLE.

TOUCHSYSTEMS

MS500235
DIMENS TONS ARE IN MILLIMETERS

DATE: 1123.05

REV: J




482 .6

4695

266

335 146

o

309
(ACTIVE AREA)

229
(ACTIVE AREA)

RACKMOUNT
MODEL ET1547L SERIES
FOR 19" COMPUTER RACKS
(NORTH AMERICA ONLY)

gX || —= LH

TOUCH
INTERFACE
USB & SERTAL

035D
CONNECTOR

POWER
[SWTCH

CABLE
CONNECTOR

DIMENS TONS ARE IN MILLIMETERS

POWER
CONNECTOR

—— 13
RACKMOUNT {‘
"SEE TABLEﬁ\\\\\\\\\
~

L

00000000000006000000000

(&

000000000000000000000

380
363

O

o 00®O000000000C0O000000O0C0O00000O0OCE®00000CO

®

296
215

®

o

o

RACKMOUNT
PIP NUMBER PIP DESCRIPTION
D84822-000 ELO-15INCH-RACKMOUNT-BKT
USE WITH ELO MONITORS

PART NUMBER PART DESCRIPTION “B”

056986-000 ET IS4 7L-0NWC- | 57
Ac5349-000 ETIS47L-6CWC- | 57
C32978-000 ETIS47L-7TCWC- | 57

016426-000 ET IS4 7L -8CWC- | 60

381388-000 ET IS4 7L-9SWC- | 61.5

SHEET 5 OF 6

F1065/7-000 ET IS4 7L -9UWC - | 61.5 SCALE 12
Co9911-000 ET 154 7L-3CWC-| 57

TOUCHSYSTEMS

MS500235

DATE: 1123.05

REV: J




RACKMOUNT
MODEL ET1547L SERIES
FOR 19" COMPUTER RACKS
(EUROPE ONLY)

482 .6
465
J |
o
O
309
~ (ACTIVE AREA)
399
165 229
(ACTIVE AREA)
219
O
!
1
S
8K || —= =

POWER
SWITCH

ﬂ

TOUCH
INTERFACE
USB & SERTAL

9 @ Oa-odt) ]

REMOTE
0SD
CONNECTOR

pp— — \—
VIDEO POWER
CABLE CONNECTOR
CONNECTOR

DIMENS TONS ARE IN MILLIMETERS

380
™ rk e 363
RACKMOUNT - —
"SEE TABLE"
23 O [lb| ecoeccccccoccsscssesscccsccsecsscss
/; §§ o
f o0 296
o oo 275
LW 33 o
3 35480
o f
77
32 PIP NUMBER PIP DESCRIPTION
B e F40623-000 ELO-BEZEL-1I5MOD-RACK2-DG
USE WITH ELO MONITORS
PART NUMBER PART DESCRIPTION “B”
056986000 ET 15471 - ONWC - 57
A65349-000 ET15470 - 6CWC - | 57
C32978-000 ET1547L - TCWC - | 57
576426-000 ET 15471 -8CWC - 50
387888-000 FTI547L-9SWC-1 | 61.5 SHEET 6 OF 6
F1O0o657-000 ETI547L-9UWC - | 61 .5 SCALE 12
C59911-000 ET 15470 -3CWC-| o0
' I
TOUCHSYSTENS
MS500235
DATE: 1.23.05
REV: J




